#### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 19 - Motherwell South East and Ravenscraig		
Valid Votes	6.063		
Positions to be Filled	4		
Quota	1,213		

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Kenneth DUFFY	Scottish Labour Party	1,368
Agnes MAGOWAN	Scottish National Party (SNP)	1,941
James Joseph MITCHELL	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	54
David ROBB	Scottish National Party (SNP)	653
Michael ROSS	Scottish Labour Party	525
Derek WATSON	Scottish Greens - Think Global Act Local	472
NATHAN WILSON	Scottish Conservative and Unionist	1,010
NEIL WILSON	UKIP	40
	Total	6,063

Candidate Kenneth DUFFY Elected with 1,368 votes, being in excess of the quota of 1,213 Candidate Agnes MAGOWAN Elected with 1,941 votes, being in excess of the quota of 1,213

## **Transfers Report**

This report contains the transfers results.

728.00000

## Stage 2 - Surplus of Agnes MAGOWAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Joseph MITCHELL	20	0.37506	7.50120
Transfer to David ROBB	1,626	0.37506	609.84756
Transfer to Michael ROSS	47	0.37506	17.62782
Transfer to Derek WATSON	113	0.37506	42.38178
Transfer to NATHAN WILSON	39	0.37506	14.62734
No further preference	96	0.37506	36.00576
Not transferred due to rounding			0.00854
	Total		728.00000

## **Transfers Report**

This report contains the transfers results.

155.00000

## Stage 3 - Surplus of Kenneth DUFFY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Joseph MITCHELL	36	0.11330	4.07880
Transfer to Michael ROSS	1,006	0.11330	113.97980
Transfer to Derek WATSON	65	0.11330	7.36450
Transfer to NATHAN WILSON	69	0.11330	7.81770
No further preference	190	0.11330	21.52700
Not transferred due to rounding			0.00560
	Total		155.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 4 - Surplus of David ROBB

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Joseph MITCHELL	15	0.03947	0.59205
Transfer to Michael ROSS	100	0.03947	3.94700
Transfer to Derek WATSON	289	0.03947	11.40683
Transfer to James Joseph MITCHELL	54	0.01480	0.79920
Transfer to Michael ROSS	296	0.01480	4.38080
Transfer to Derek WATSON	613	0.01480	9.07240
No further preference	240	0.03947	9.47280
No further preference	639	0.01480	9.45720
Not transferred due to rounding			0.00885
	Total		49.84756

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of NEIL WILSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to James Joseph MITCHELL	3	1.00000	3.00000
Transfer to Michael ROSS	7	1.00000	7.00000
Transfer to Derek WATSON	9	1.00000	9.00000
Transfer to NATHAN WILSON	6	1.00000	6.00000
Transfer to Michael ROSS	1	0.11330	0.11330
Transfer to NATHAN WILSON	1	0.11330	0.11330
Transfer to Michael ROSS	1	0.01480	0.01480
Transfer to Derek WATSON	1	0.01480	0.01480
No further preference	15	1.00000	15.00000
No further preference	2	0.03947	0.07894
No further preference	5	0.01480	0.07400
Not transferred due to rounding			0.00000
	Total		40.40914

## **Transfers Report**

This report contains the transfers results.

# Stage 6 - Exclusion of James Joseph MITCHELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael ROSS	11	1.00000	11.00000
Transfer to Derek WATSON	10	1.00000	10.00000
Transfer to NATHAN WILSON	9	1.00000	9.00000
Transfer to Michael ROSS	7	0.37506	2.62542
Transfer to Derek WATSON	2	0.37506	0.75012
Transfer to Michael ROSS	19	0.11330	2.15270
Transfer to Derek WATSON	3	0.11330	0.33990
Transfer to Michael ROSS	5	0.03947	0.19735
Transfer to Derek WATSON	3	0.03947	0.11841
Transfer to Michael ROSS	6	0.01480	0.08880
Transfer to Derek WATSON	15	0.01480	0.22200
Transfer to NATHAN WILSON	2	0.01480	0.02960
No further preference	27	1.00000	27.00000
No further preference	11	0.37506	4.12566
No further preference	14	0.11330	1.58620
No further preference	7	0.03947	0.27629
No further preference	31	0.01480	0.45880
Not transferred due to rounding			0.00000
	Total		69.97125

## **Transfers Report**

This report contains the transfers results.

## Stage 7 - Exclusion of Derek WATSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael ROSS	166	1.00000	166.00000
Transfer to NATHAN WILSON	40	1.00000	40.00000
Transfer to Michael ROSS	32	0.37506	12.00192
Transfer to NATHAN WILSON	3	0.37506	1.12518
Transfer to Michael ROSS	20	0.11330	2.26600
Transfer to NATHAN WILSON	3	0.11330	0.33990
Transfer to Michael ROSS	80	0.03947	3.15760
Transfer to NATHAN WILSON	10	0.03947	0.39470
Transfer to Michael ROSS	146	0.01480	2.16080
Transfer to NATHAN WILSON	15	0.01480	0.22200
No further preference	285	1.00000	285.00000
No further preference	80	0.37506	30.00480
No further preference	45	0.11330	5.09850
No further preference	202	0.03947	7.97294
No further preference	468	0.01480	6.92640
Not transferred due to rounding			0.00000
	Total		562.67074

## **Transfers Report**

This report contains the transfers results.

## Stage 8 - Exclusion of Michael ROSS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to NATHAN WILSON	177	1.00000	177.00000
Transfer to NATHAN WILSON	30	0.37506	11.25180
Transfer to NATHAN WILSON	277	0.11330	31.38410
Transfer to NATHAN WILSON	89	0.03947	3.51283
Transfer to NATHAN WILSON	163	0.01480	2.41240
No further preference	532	1.00000	532.00000
No further preference	56	0.37506	21.00336
No further preference	769	0.11330	87.12770
No further preference	96	0.03947	3.78912
No further preference	286	0.01480	4.23280
Not transferred due to rounding			0.00000
	Total		873.71411